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@ Atomic Energy Education Society

affife gt / Annual Examination 2024-25

T8I / Class : VI 31afér/ Duration : 3 Hrs

f%T / Subject : ENGLISH 3fr&ad 3% / Maximum Marks : 80

WD A& / General Instructions:

i) This paper is divided into four sections.
SECTION - A: READING 20 MARKS
SECTION - B: WRITING 20 MARKS
SECTION - C: GRAMMAR 15 MARKS
SECTION -D: LITERATURE 25 MARKS
ii) All questions are compulsory.

jii) Separatc instructions are given with each section and question, wherever necessary. Read

these instructions very carefully and follow them. You may attempt one section at a time.

iv) All questions of that particular section should be attempted in the correct order. Do not
exceed the prescribed word limit while answering the question.

v) Marks are mentioned for each question against it.

SECTION A - READING (20 MARKS)

Q1. Read the passage given below.

Walter Elias “Walt” Disney was born on December 5, 1901, in Hermosa, Illinois. He lived
most of his childhood in Marceline, Missouri, where he began drawing, painting and selling
pictures to neighbours and family friends. Disney attended McKinley High School in
Chicago, where he took drawing and photography classes and was 2 contributing cartoonist
for the school papéi'. At night, he took courses at the Chicago Art Institute.
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. but was rejected for 1. . Q@
When Disney wag 16, he dropped out of school to join the army i) 0T bejy,

Underage, Instead, he joined the Red Cross and was sent to France for a year K;on dl'lV:: an > ; @p‘#ﬁ
fmbulance, Whep Disney retuned from France in 1919, he moved back to Kansas City t° ® &F &
PUISUe @ carcer as a newspaper arist, His brother Roy got i 4 job at the Postmen-Rubiy hutly © o&“&
Studio, where he met cartoonist Ubbe Ert Iwerks, better known as Ub Iwerks. Ffom e N .'\065
Disney workeq at the Kansas City Film Ad Company, where he made commercials l')ased on S *
Cut out animatiop Around this time, Disney began experimenting with a camera, doing hand. N
drawn

cell animatjop and decided to open his own animation business. From the ad company,
Trecruited Freq Harman as his first employee.

Wait and Harman made 5 deal
Which they calleq Laugh-0-
to acquire his own studio,

Wwith & local Kansas City theatre to screen their cartoons,
Grams. The cartoons were hugely popular, and Disney was able

upon which he bestowed the same name. Laugh-O-Gram hired a

Dumber of employees, including Harman’s brother Hugh and Iwerks. They did a series of
Seven-minute fairy ta]eg that combined both live action and animation, which they called
Alice in Cartoonland, By 192

3, however, the studio had become burdened with debt, and
Disney was forced to declare bankruptcy.

Disney and his brother, Roy, soon

pooled their money and moved to Hollywood. Iwerks also
rel the three began the Disney Brothers® Studio. Their first deal
Margaret Winkler, to distribute their Alice cartoons. They

Oswald the Lucky Rabbit and contracted the shorts at 1,500

ocated to Califomnia, and there
Wwas with New York distributor

also invented a character calleq
each.

Based on the reading of the above passage,

answer the following questions, (1x 8 = M) Q
(a) What did Wal¢ Disney learn in his childhood?
(1) drawing (ii) painting
(iii) selling pictures to neiéhbours and family friends (iv) @), (i) and (i)
(b) Why was Walt not selected in the army?
(i) He was underage (ii) He did not work harq
(iii) He was not qualified (iv) None of these

(c) Walt Disney dropped out of school at the age of
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()14 (i) 15 (iif) 16 | (iv) 17
(d) Walter Elias “Whalt” Disncy was born on
(i) December 5, 1901 (ii) December 6, 1901
(iii) December 7, 1901 (iv) December 8, 1901
(¢) The ‘past participle’ form of the word “began” in the first para is
(i) begin (ii) begun (iii) began (iv) begins
(f) The synonym of the word “popular” in the passage is
S (i) interesting (ii) famous (iif) active (iv) dedicated
() Disney worked at the Kansas City Film Ad Company where he
(i) He made commercials based on cut out animation.
(ii) He did not make commercials based on cut out animation
(iii) He made commercials based on animation
(iv) None of these
(h) Why did Walt Disney move back to Kansas City?
(i) To pursue a career as a newspaper artist (ii) To pursue career as a musician
‘ (iii) To pursue career as a doctor (iv) To pursue career as a theatre artist
Q2. Read the'passage given below.

Physical health affects the mind and vice-versa. Which of the two is the more important is
like asking the age-old question: what comes first, the chicken or the egg. For our present
subject, let us be clear that a sound mind in a sound body is prerequisite for high efficiency
and good quality work in the office, factory or field, which lead to a sense of achievement
and fulfilment.

Our health is, of course, important not only to us but also to our families and even to our
employers. No wonder that companies everywhere have a share in the health and fitness of
their employees and are willing to spend considerable money towards this purpose. Japanese

companies particularly excel in this and the more successful among them start off the day
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With 2 body bending and stretching session and even singing the company 301-1g el @50 @&&
Promote loyalty ang motivation among the employees! This s considere.d an Important facy,, é\_ .
contributing o high output and quality, Here is a lesson which has been imitated e?sewhere n
the world and could work wonders i India. It is estimated that some 20,000 American firms
have establigheg in-house health clubs, Typical of these is the soft drink manufacturer Peps;
Cola which hag Spent about $2 million jn setting up a health club at its head office in New
York State. Such expenditure has proved to be a wise investment in achieving better
efficiency ang higher Productivity, It has, indirectly, also helped reduce the premium on the

health insurance of g Staff. This business has grown so large that hundreds of consultancies
have Sprung up fo

a nominal contrjp
facilities aJ] the

ventures as bett

@

I the management of health clubs and fitness centres. In some cases, there is
ution by the employees on the condition that they will value and use the
more. Some insurance companies have teamed up with employers in such

er health contributes to a longer life and hence more premium! Though many
Companies in India haye generous

the like is yet to £ain momentum,

V

medical schemes, the movement towards health clubs and

2.1 Based on the reading of the above Passage, answer the following questions. (1x4=49)

(a) Our health is important to

@ us (ii) families * (iii) employers (iv) (i), (i) and (iif)

(b) Insurance éompanies are concerned about earning

(i) more premium . (3i) more popularity (iii) more taxes (iv) more reviews
(c) The word “generous” in the passage means

(i) honest (ii) liberal (iii) difficult (iv) strong

(d) The adjective of “loyalty” in the passage is

(1) loyal (ii) loyalness (iii) loyalty (iv) none of these
2.2 Answer the following questions in about 20 — 30 Words. (2X4=8)

(2) How do successful companies motivate their employees to maintain good health?

(b) Why has Pepsi Cola spent about $2 million in setting up a health club at its head office in

New York State?
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“.(c) What do you understand by “sound mind in a sound body™?

! (d) How is an individual's health impottant for his of het family?

SECTION B - WRITI 20 MARKS

Q3. Read the following information about Netaji Subhas Chandra Bose given below and
write a bio-sketch highlighting his achievements. (S0 Words) (5M)

Name: Subhash Chandra Bose; Netaji

Contribution: Immense, freedom fighter

Bom: 23rd January, 1897 in Cuttack, Oridsa.

Career: Civil services

Achievements: Joined freedom struggle; established Indian National Army
Motto: “Give me blood and I will give you freedom.”

Death: Air crash over Taipei, Taiwan (Formosa) on 18th August, 1945

OR

Read the following conversation carefully. As Rehana is going to her dance classes, she
needs to reproduce the message for Roma. Write the message on her behalf with every
detail. (50 Words) M

Rosy : Hello ! is it 90350225657
Rehana : Yes, please. Who's it there?
Rosy : I'm Rosy, a friend of Roma. Where is she?

Rehana : Oh! Sorry. Actually she has forgotten her mobile here. She has gone to the market.
Can I help you, please ?

Rosy : Oh, sure. In fact, I wanted to convey her that today’s music class remains suspended
because the teacher is not well. Instead it will be held on Sunday. So, she should remember it.

Could you please pass this message to her?

Rehana: Oh! Sure. Thank you.
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Raosy : Thank you too. )'}‘90 «»"cd
» 7 .Oq‘

Q4. Write a paragraph on any one of the following toplcs - (100 Words) 7 @YSZQ@Q
&
() Importance of Reading Newspapers @‘\i
() A Scene at a Railway Station ¢

(i) Your Favourite Sportsperson

OR

Write a letter to your Uncle thanking him for a present sent to you on your birthday.

(100 Words) | (T™)

QS. Develop s readable sto from the given outline and assign a suitable title alon

with a moral. (120 Words) M)

Elephant in a village .............. went for a bath to the river every day .............. passed a
tailor’s shop .............. tailor gave him something to eat .............. one day tailor has a

fight with a customer .............. pricks elephant’s trunk with a needle instead of giving him
food.............. elephant fills water in his trunk ............. spoils tailor’s stitched clothes

SECTION C - GRAMMAR (15 MARKS)

Q6. The following passage has not been edited. There is one error in each line. Write the )
incorrect word and the correction against the correct blank number. (1/2X6=3M)

INCORRECT CORRECT

Popcorn is a type of corn who expands from the kernel (a)
and puffs up when heated. When heated pressure build (b)
within the kernel, an small explosion or pop is the (c)

end result. There are various techniques off popping corn. (d)

There is various flavours available in the market. ()

Children loves to eat popcorn. ®

i
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7. Do as dirccted. (I1xd4=4M)

(a) After a very long spell of heat, the weather i8 ..ooovvvin, At Inst. (Use the phrase ‘look
up’ appropriately t0 fill in the blank) (1)

(b) NATURE, BENCH (In cach of the two words on the lef, undertine the letters

representing the consonant ‘el sound 08 in ‘chait’) (172X 2=1)

(c) Write the antonym ‘BRAVE'. (1)

(d) Make a meaningful sentence using the phrase ‘the bat tipped the ball’. (1)

Q8. Rearrange the following jumbled words to make meaningful sentences. (1 x4 = 4M)
(a) was / performance / impressed / with / quite / his /I

(b) fit and fine / necessary/ games/ are/ keep/ to/ the/ body

(c) the / problem / bags / heavy / carrying / had / they / in

(d) should / you / have / coming / seen / this

Q9. Complete the following dialogue between a customer and a shopkeeper by filling in
the blanks selecting the most suitable option. (1x4=4M)

Customer : I want some sugar.

Shopkeeper: (i)

Customer: I need 2 kilograms.

Shopkeeper: I'm sorry, (ii) in the stock.

Customer: Then give me a little less.
Shopkeeper: (iii) left.

Customer : Give me as much as you can. By the way, (iv) ___ ?

Shopkeeper : Just 350 rupees please.

(i) How much are you needing? / How much do you need? / How much did you need? / How

more do you need?

(ii) I don’t have less / am not having any / didn’t have so much/ I don’t have so much
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ilogram / There were harg Gy
(it) There is hardly half a kilogram / There was hardly half a kilogr ’ Q\‘sewf’ o
halt'a kilogram / There will be hardly half a kilogram Rl 6"\%& .
y
. charge? / How much ¢ I
(iv) How much money will I charge? / How much money did you ® Q\s“é
money will you charge? / How much moncy had you charged? ® &Q&é |
S
SECTION D - LITERATURE (25 MARKS Q"Q}
. How.(1x4=4
Q10. Read the stanza below carcfully and answer the questions that follew. { " @
“So when he wiggles in the grass
Ill stand aside and watch him pass
And tell myself, “There’s no mistake
It’s just a harmless garden snake!” w

(2) Name the poet.

(b) Mention the word referring to the snake’s movement in the above lines. .
(c) How did the speaker convince himself?
(d) Give antonym of “harmless”,

Q11. Read the paragraph below carefully and answer the questions that follow. (1x4 =4)

“Dey get id all,” he said, “dey get id by advertisement, nod by work. Dey take id away

from us, who lofe our boods. Id gomes to dis—

bresently I haf no work. Every year id gets
less. You will see.

” And looking at his lined face I saw things I had never noticed before,

bitter things and bitter struggle and what a lot of grey hairs there seemed suddenly in his red
beard!

(a) Name the story.

(b) Who is the speaker of the line- “And looking at his lined face I saw things I had never
noticed before”?

(c) What is the speaker trying to say in the line “dey get id by advertisement, nod by work”?
(d) What is the actual word for “lofe” in English?

QiZ. Answer any four of the following questions in about 30 — 40 Words each. (2x4=8)

(2) What happens to the volunteer who swallows four drops of the new invention? What is

the name of the invention?

(b) What was the effect on Mr. Gessler of the author’s remark about a certain pair of boots?
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(c) Who docs Mayn say the Sunday visitor is?

(d) Where is the National Wat Memorial loeated and what is {ta significance?

(¢) Discuss the different types of meadow houses mentioned in the poem ‘Meadow
Surprises’.

Q13. Answer gny e of the following questions in about 30 - 40 Words each. (2 x 2~ 4)
(a) What was Grandmother’s prophecy about the cook? Did it come true?

(b) Why was the bear looking sorry for himsclf in the cvening?

(c) Why did Tilloo’s father advise him not to try to reach the surface of the planet?

Q14. Answer any one of the following questions in about 70 — 80 Words each. (5 M)

Explain how overconfidence can lead to a2 humorous situation and land someone in a tight

spot with reference to the poem ‘Dad and The Cat and the Tree’.
OR

| ‘Freedom is ﬁf;a'. Explain this statement with reference to the lesson ‘Chandni’.
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@ Atomic Energy Education Society
aTff& 08T / Annual Examination 202425
F§T / Class : VII 3raftr / Duration : 3 Hrs
3w / Subject : MATHEMATICS 3IFaA 3% / Maximum Marks: 80

WA fadw / General Instructions:

. This Question Paper has 5 Sections A, B, C, D, and E.
2. Section A has 20 Multiple Choice Questions (MCQs) carying 1 mark each.

3. Section B has 5 Short Answer-I (SA-I) type questions carrying 2 marks each.
4. Section C has 6 Short Answer-II (SA-II) type questions carrying 3 marks each.

5. Section D has 4 Long Answer (LA) type questions carrying 5 marks each.
6. Section E has 3 Case Based integrated units of assessment “ marks each) with sub-parts.

7. All Questions are compulsory.
8. Draw neat figures wherever required. Take m =22/7 wherever requxred if not stated

S.No. | Questions Marks
1. The ratio of Fatima’s income to her savings is 4 :A1. The percentage of M
money saved by her is :
._ ‘ (@) 25% (b) 20% (c) 40% (d) 80%
) 2; 0.07 is equal to M
(@) 70% () 0.7% (©) 7% (d) 0.07%

3. The cost of a flower vase was Rs.800. If the cost is increased to Rs. 896, M

what is the percentage increase in flower vase?

(2)10% (b) 12% (©) 15% (d) 20%
4. Which of the following rational numbers is equivalent to g ? IM
3
@3 ® 3 © 3 @3
Page1of?7
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S. N /—ﬁ
ﬁ Which of the following rational numbers is in standard form?
20 10
o O, S
Which of the following rational numbers is equal to its reciprocal?
@1
@ ®2 O @0
: Area of tg : —
©20 triangle is 100 e, IF altitads 15 10 cm, then its base is
cm
8 The leq ®) 15 cm ©10em  (d)5cm
length s of two sides ofa triangle are 6 cm and § cm. The possible M
[ of the third side i
a)l cm
1 ®) 15
. Area of a cirglg with) di o (©) 16 em (d) 12 cm Q ‘
10 [The coetiy ) o ©Orp  (@m?
( cient of xy in 3x2y T ays 5T ' 1
T 3 ®)-2 i M v
o -rhe fﬂctOrS Of the term ‘)i. i (C) 7YZ ] (d) 7z ﬂi
| Oxmyxy - ™M :
12. N ~lxyxy ©- {
umber of termg 3 ' Ixxxy (4)-
@2 : lntheexpressicm?,xy_2 oy (? lxx"}"‘y ‘
T ®)3 *ois ™
* The expoil < - — (C) 4 d
@) 10° cntial form of 100000 35 @S
12— () 10*
1 . 1
4. The value of (_1) is . (C) 10° @ 10° I—M\
a) -
15, il ®1 ™
—— . = ¢ !
| |@7 321 N ® .
16. - ! ©)1 @0 M
Idenhfy the sql:
€ solid whoge net is given below. 1M\
\ v e
@Rectangular pyramig ®
| © Triangular prigy, (d)Rectangular Prism

Page 20y
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/ Count the number of cubes in the above solid
~ (a)9 (b)12 (c) 14 (d) 15
' / T3] Which of the following has a line of symmetry? ™

9N U

er says how many times to use the number

M

Assertion: The power of a numb
in a multiplication

Reason: (-7)’=-243
(2) both assertion and reason are correct and reason is correct explanation

19.

for assertion .
(b) both assertion and reason are correct but reason is correct explanation for

assertion
(c) assertion is correct but reason is false

. (d) both assertion and reason are false
Assertion: A square pyramid is a two -dimensional geometric shape that has

20.
a square base and four triangular bases that are joined at a vertex

Reason: 7 edges does a pyramid with square base have.
(2) both assertion and reason are correct and reason is correct explanation

for assertion
(b) both assertion and reason are correct but reason is correct explanation for

assertion
(c) assertion is correct but reason is false

(d) both assertion and reason are false
Page3of7
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Section —B
Answer the foﬂowiW M
- - its cost price

21. An article was sold for Rs 330 with a pWW—
22. List three rational numbers between g ani:-—."/—_iﬁ_———
23. What are the shapes of the shadows obtained when a torchlight iS made t0

fall on a conical birthday cap from the top WW————
24. Express each of the following in exponential form:

(i)xxxxxxxxaanbXbXb

(i) () x (D) % () x (D) xaxaxa L
25. | Find 12%0f1200 .

: Section — C
Answer the following questions

26. "Find the amount to be paidiat the end of 3 yrs if the principal amountisRs | 3M

1,200 at10%p.a.
27. | Solve ] M

DZ+3 @32 +43 (i) 22 X435
28. The adjoining figure shows two circles with the same centre. The radius of |3M

the larger circle is 10 cm and the radius of the smaller circle is 4 cm. Find

the area of the shaded region(Take 7 = 3.14)
59| Classify fnto monomial, binomial and trinomial M

) a (i) 22 -3z +8 (iif) 5 -3t
30. Using laws of exponents, simplify and write the answer in éxbbnénﬁil:fcz): 3IM

@) 2% x2'x2° (ii) 5'2+ 5° i) (7%)°
at. State the number of lines of symmetry for the following figures: M

(i)An equilateral triangle (ii) An isosceles triangle

(iii) A circle (iv) A square

(v) A regular hexagon (vi) A rhombus L

Page 4 of 7
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Section - D
Answer the following questions
32. Write the following as rational numbers in their standard forms: M

@35% ()12 © 63 (DrX= (c)105+203

33. (a)Para]lelogrm; ABCD hasDC=7 cm, AM=4cm & NC=4.2 cm, M
(DFind the area of parallelogram & (ii) Find AD

. DM 7cm C
(b) A triangle PQR has QR =4 cm, PM =3 cm & QN = 3.2 cm.
(i) Find the area of triangle& (ii) Find PR

34. Find the value of the following expressions ata= 1 and b=-2: M

(@) &% +b%+3ab (ii) a* + a%b + ab”? + b°
35. 0P M
S
(i) (ii)

Find the number of edges, vertices and faces of the given figures?

Page 5 of 7
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Section—E
CASE BASED QUESTIONS

36.

The Food Pyramid The food guide pyramid should be kept in mind before
planning an ideal menu. Everything on the pyramid is necessary for good
nutrition.

Suppose your lunch consists of rice, chapati, curd, dal, vegetable, an apple
and one sweet. This means that you have consumed 2 servings of grains, 1
serving of pulses, 1 serving of dairy products, 1 serving of fruits and 1
serving of sweets

FOOD.
LYRANMID

.(i)Suppose you have consumed 25% grains, 25% vegetables, 10% fruits,

10% dairy products, 12% proteins & 18% Fats. What is the ratio of grains to

vegetables?

(ii)Find the value of x, if 64% + 30% + x = 100%.

| (iii) If a bowl of balanced diet is 300g, and the proteins present are 30g.

‘What is the percentage of proteins present in the bowl of balanced diet

(iv) If your meal has 12% of fruits, how many grams of fruits you have
taken?

M

&

Rani bought a new field that is next to one she already owns . This field is in | 4M

fhe shape of a square of side 70 m. She makes a semi-circular lawn of
maxlmum area in this field.

Lawn

| Field

Page 6 of 7
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() Findthe perimeter of the lawn.
(1) Findthe perimeter of the field.

(1i1) Find the area of the square field excluding the lawn.

(iv) Find the area of the square field including the lawn.
38. The students and

teachers of & school went for Mumbai sightseeing. All 4M
were excited to see the beautiful architecture of the Gateway of India, Flora

fountain, Taj Palace hotel, The Victoria Terminus etc. Based on this

information, answer the questions given below:

(i)How many lines of symmetry can be seen in the Gateway of India?
(ii) Which letter in the word INDIA' has no line of symmetry?
(iii)Name 2 other monuments which show symmetry.

(iv)Complete the other symmetrical part of the given figure.
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Atomic Encrgy Education Socicty
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General Instructions:
1.The paper censists of five sections A,B,C,D and E.

2. SECTION-A would have 17 MCQs and 03 Assertion-Reasoning type questions carrying
1 mark each.

3.SECTION-B would have 9 Very Short Answer (VSA) type questions 2 marks each
4. SECTION-C would have 8 Short Answer (SA) type questions 3 marks each.

5. SECTION-D would have 2 case based qliesﬁons 04 marks each.

6.SECTION-E would have 2 Long Answer (LA) type questions 5 marks each.
7.Draw neat and labelled diagrams wherever necessary.

8.All questions are compulsory.

SECTION A
Choose the most appropriate option for the questions given below: (1x20=20)

1. A burning candle is placed at a distance of 25 cm in front of a large plane mirror. The image

of the candle will be:
a) 25cm behind the mirror and virtual ~ b) 50cm behind the mirror and real
¢) 10cm behind the mirror and virtual ~ d) inside the mirror and real

2. Which of the following is a unisexual flower?
a) mustard b) papaya c) hibiscus d) rose

ults after the fusion of male and female gamete is called:
x c) zygote d) fruit

b)OtoAand Ato O
d) AtoB.
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5. The basic unit of speed is: .
a) m/s b) km/s ¢) km/min d) km/h

6. A car moves with the speed of 40km/h for 15 minutes and then with the speed of 60km/h for

next 15 minutes. The total distance covered by the car is:
a) 100km b) 15km ¢) 25km d) 10km

7. Which of the following does not work on the heating effect of electric currept?
a) geyser b) electric bell c) hair dryer d) electric kettle

8. When electric current is passed through a conductor, amount of heat produced in it depends
on its:

a) material b) length c) thickness d) all of these

9. In a circuit MCB (miniature circuit breaker) is used to:
a) get more energy b) save the circuit from excessive current p
c) complete the circuit d) obtain light L5

10. Anushka observed that a pond with clear water was covered up with green algae (Spirogyra)
within a week. By which method of reproduction did the algae spread so rapidly?
a) budding ~b) sexual reproduction  c) fragmentation d) Pollination

11. Boojho and Paheli were given one mirror each by their teacher. Boojho found his image to be
erect and of the same size. Paheli found her image erect and smaller in size. This means that
the mirrors of Boojho and Paheli respectively are:

a) plane mirror and concave mirror. b) concave mirror and convex mirror,
¢) plane mirror and convex mirror. d) convex mirror and plane mirror

12. The branchy part of a tree above the stem is known as:
a) canopy b) crown ¢) understorey d) shrubs
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13. Forests have an influence on:
a) water cycle b) air quality ¢) climatic conditions d) all of these
14. Which of the following is not used to disinfect water in a sewage treatment plant?
a) Ozone b) Chlorine c) Nitrogen d) UV rays
15. Which of the following was proclaimed as International Decade for action on “Water for
Life"?
a) 2006-2016 b) 2008-2018 c) 2004-2014 d) 2005-2015
16. A network of big and small pipes carrying waste water is known as:
a) sewers b) manholes c) conducting pipes d) sludge

17. Which of the following is based on the study of the shadow cast by the sun?
¢) Sun dial d) Quartz clock

a) Simple pendulum b) Atomic clock
given, one labelled Assertion(A) and the

For question numbers 18 to 20, two statements arc
to these questions from codes a), b), ¢)

other labelled Reason(R). Select the correct answer

and d) as given below.
and reason is the correct explanation of the assertion

a) Both assertion and reason are true
b) Both assertion and reason are true but reason is not the correct explanation of assertion.

¢) Assertion is true and reason is false

d) Assertion is false, but reason is true

18. Assertion (A): Stamen and pistil are male and female reproductive parts of a plant
respectively.

Reason (R): After fertilization the ovary becomes fruit and ovule becomes seed.

19. Assertion (A): The various components of th

Reason(R): The forest keeps on growing and regenerating.

20.Assertion (A): Mirrors used
Reason(R):concave mirror an

e forest are interdependent on one another.

in headlights of cars are concave MmirTors.
d convex mirror are spherical mirrors.

SECTION B
(2x9=18)

21. Identify the organism given in the figure below and write its method of reproduction.
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. 30 min. On
home “lnnth his ﬁ]end and \

km from his
back by a bicycle
km/h?

: g Sed L I
L S

22. Boojho walks to his school which

is a¢ a distance of 3

he finds that the school is closed and comes

reaching, A
reaches home in 20 min. What is his average speed in

. . ; ircuit.
23. Write two reasons for flow of excessive current in an electrical circ
wire with the piece of

24. An electrician working in your home wants to replace a blown up fuse

copper wire. Would you agree? Give reason for your answer.
echanic replaced it with a plane miITor.

25. The side mirror of a scooter got broken. The m
Has he used the correct mirror? Give reason for your answer.

26.Why are forests called green lungs?
27. What are decomposers? What is their role in a forest?

28. Why should oils and fats not be thrown down the drain?

29. Draw diagrams to show a convex and a concave lens.

SECTION-C (3X8=24)

e

30. a) What is pollination? Write its types?
b) Boojho had the parts of a rose plant —a leaf, roots, a stem, a flower and a bud.

Which of these can be used to grow a new rose plant?

31. Given below as a figure is the distance-time graph of the motion of an object.

a) What will be the position of the object at 20 s?
b) What will be the distance travelled by the object in 12 s?

c) What is the average speed of the object?
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object.

32. What is an electromagnet? Write its two applications.

room. At night she covered the bulb of her

33. Paheli does not have a night lamp in her : her
he taken the right step? Give reasons to justify

room with a towel to get dim light. Has s
your answer.

34. a) Two different types of lenses are placed on a sheet of newspaper. How will you

identify them without touching? -
b) Give two differences between real image and virtual image.

35. What are the consequences of deforestation? (Any three)

36.Define food chain. Give an example of a food chain in a grassland.

37. a) Why is air pumped in the clarified water obtained after removal of sludge in Waste Water

treatment plant?
b) Give two uses of sludge extracted during treatment of sewage.

SECTION -D (4X2=8)

38. All of us use water in our homes and make it dirty. It is called wastewater. This used water
should not be wasted. We must clean it up by removing pollutants. Treatment of wastewater
involves physical, chemical, and biological processes, which remove physical, chemical and
biological matter that contaminates the wastewater. It is also suggested to plant Eucalyptus
trees all along sewage pond.

Clean water that is fit for use is unfortunately not available to all. It has been reported that
more than one billion of people have no access to safe drinking water. This accounts for a

large number of water-related diseases and even deaths.

a) What is sewage?
b) Name two water borne diseases.
c) Explain the first step used in the treatment of waste water in 2 Waste Water Treatment

Plant?
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OR
c) Why is it suggested to plant eucalyptus trees all along sewage pond?

39. Rahul had an official meeting in Delhi, so he booked a taxi to travel from Lucknow t0 Delhi.
The taxi driver asked Rahul to come to the nearest pickup point at 6 a.m. When Rahul seated
in the taxi, he noticed that the odometer of a car read 13000 km. The road was busy and there

was traffic on the road so the motion was not uniform. He reached Delhi in 6 hours. At the
end of the trip, he checked that the odometer read 13600 km.
a) What is uniform motion?

b)What does an odometer measure?
¢) What was the average speed of the taxi in 6 hours?
OR

¢) Draw distance time graph when taxi driver was waiting for Rahul to arrive and his taxi
was parked along road side. ﬂ

SECTION-E (5X2=10)

40. What are the advantages of seed dispersal? Explain three types of seed dispersal with
examples.

41. a) What is dispersion of light? If red color laser light is incident on a prism how many
colours will you observe? '

b) Write three characteristics of image formed by a plane mirror.

0)
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General Instructions:

1. This question paper is divided into six sections —A, B,C,D,Eand F

Section A (Multiple Choice Questions) (1 X20=20)
. Section B (Very Short Answer Type Question) 2X4=8)
Section C (Short Answer Type Question) 3X5=15)
Section D (Case based Questions) (4X 3=12)
Section E (Long Answer type Question) (5 X 4=20)
Section F (Map Skill) (1X5=5)
2. All questions are compulsory

Section - A

. Multiple Choice Questions (MCQs) (1 x 20 =20 Marks)

1. Which of the following is an artificial enclosure for keeping small house plants?
a) Terrarium b) Bonsai c) Ecosystem d) Biosphere

2. Which of the following is a Japanese word which means —“Harbour waves”?

a) Tsunami b) sea wave . ¢) Ocean Current d) Tide

3. The region is characterized by extremely high or low temperature and has scarce vegetation-

a) grassland - b) Dessert ¢) coastal region d) plains

sy

4, A division of' Gond kingdoms controlled by a particular clan was termed as -

a) Tanda ~ b)clan ¢) ghar d) khel
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3. The Ahom tribes migrated from- g

a) Arab b) Myanmar c) Iran d) China

&

6. Who were known as the “Rathakaras”? o 4;'& :
a) Soldiers b) blacksmith ¢) carpenters d) chariot makers v Q:F
7. What kind of exchange took place between nomadic pastoralists and settled community?

a) wool b) ghee ¢) grains d) all of the above

8. Hagiography means -

a) Writing of Saint’s life b) writing of king’s life

¢) writing of ordinary people’s life d) Writing of soldiers’ life .

9. ___ was the famous Gujrati saint of Bhakti movement.

a) Eknath b) Narsi Mehta ¢) Sakhu Bai d) Tukaram

10. What were the total number of misls before Maharaja Ranjit Singh in Sikh territory?

a) 10 b) 12 c)22 -+ d)6
11. “Chauth” was of the land revenue levied by Marathas.
a) 10% b) 25% c) 30% d) 20%

12. “Namami Ganga™ is programme is launched to

a) conserve flora and fauna b) combat desertification

c) mitigate soil erosion d) conserve river Ganga

13. International Women’s Day is observed on -

a) 22 March b) 9 August c) 8 March d) 17 April

14. * Amar Jiban” the first known autobiography by any Indian woman was written by-

a) Rashsundari Devi b) Pandita Ramabai c¢) Chokamela d) Andal
15. Egypt is famous for growing -

a) jute b) cotton c) maize d) lentils
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16. Which of the following is an examplc of print media?
a) Magazines b) Television ¢) Internet d) Radio

17. Erode Cloth market is situated in -

a) Kerala 1) Tamil Nadu ¢) Odisha d) Andhra Pradesh
18. Between 10°N to 10° § is referred as region.
a) Equatorial b) Temperate ¢) Sub- Tropical d) Tropical

19. The government buys cloth from the handloom weaver’s cooperatives and sells it through

stores known as -

a) De-optex b) Re-optex c) Co- optex d) Go-optex
20. Nadir Shah invaded and plundered the city of Delhi in -

a) 1739 b) 1740 c) 1707 d) 1761

Section - B

Very short Answer based Questions- (2 x 4 = 8 Marks)

21. What is an Oasis? Give an example.
Or '
What is “Susu”?
22. Who were Nayanaras? Give an exarﬁple.
. 23. What is population density?
24. Why did Marathas want to expand beyond the Deccan?

Section - C
Short Answer based Questions - (3 X 5=15 Marks)

25. What made Swapna sell the cotton to the local trader instead of selling at the Kurnool
cotton market?
Or
What do you understand by the term “an independent media™?

26. What are the climatic conditions of the Ladakh?

Page 3 of 6

C} Scanned with OKEN Scanner



9
S &
S &
& @
o) &
$ &
27. How the Banjaras were important for the economy? (9) @é‘ é‘é\'
Or °’$° é&“’v é\‘g
What kind of exchanges took place between nomadic pastoralists and settled © o
&
agriculturists? N
28. What do you mean by “doctrine of advaita”?
OR
What does mean by “putting out system™?
29. Write a short note on —
a) Censorship
b) Maloca
Section - D 0
Case Based Question - (3 X 4=12Marks)
30. Read the paragraph and answer the following question:
Newspapers, television and radio can reach millions of people because they use certain
technologies. We also tend to discuss newspapers and magazines as the print media; and TV and
radio as the electronic media. Why do you think newspapers are called print media? As you
read further, you will find that this ﬁaming is related to the different technologies that these
media use. Changing technology, or machines, and making technology more medern, helps
media to reach more people. It also improves the quality of sound and the images that you see.
But technology does more than this. It also changes the ways in which we think about our lives. @

For example, today it is quite difficult for us to think of our lives without television. Television

has enabled us to think of ourselves as members of a larger global world.

a) What is Media? 4))
b) Name the different types of Media. )
¢) Who invented television? m

31. Read the paragraph and answer the following question:

People of the Rainforests - People grow most of their food in small areas after clearing some
trees in the forest. While men hunt and fish along the rivers, women take care of the crops.
They mainly grow tapioca, pineapple and sweet potato. As hunting and fishing are uncertain it

is the women who keep their families alive by feeding them the vegetables they grow. They
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practice “slash and bum agriculture™, The staple food is manioc, also known as cassava that
grows under the ground like the potato. They also eat queen ants and egg sacs. Cash crops like
cofTee, maize and cocoa arc also grown. The rainforests provide a lot of wood for the honses.
Some families live in thatched houses shaped like beehives, There are other large apartment-
like houses called “Maloca™ with a steeply slanting roof. Life of the people of the Amazaon basin
is slowly changing. In the older days the heart of the forest, could be reached only by navigating
the dver. In 1970 the Trans Amazon highway made all parts of the rainforest accessible.
Aircrafts and helicopters are also used for reaching various places. The indigenous population

was pushed out from the arca and forced to settle in new arcas where they continued to practice

their distinctive way of farming.

1) What are the crops grown by the people of amazon rainforest? (N

b) What do you understand by “Slash and Burn agriculture™? 2)

¢) What are the staple food of the people of Amazon rainforest. ? ¢))

32. Read the paragraph and answer the following question:

Some of them like Kabir and Baba Guru Nanak rejected all orthodox religions. Others like
Tulsidas and Surdas accepted existing beliefs and practices but wanted to make these
accessible to all. Tulsidas conceived of God in the form of Rama. Tulsidas’s composition,
the Ramcharitmanas, written in Awadhi (a language used in eastern Uttar Pradesh), is
important both as an expression of his devotion and as a literary work. Surdas was an
ardent devotee of Krishna. His compositions, compiled in Surasagar ,Surasaravali and
Sahitya Lahri express his devotion. Also contemporary was Shankradeva from Assam who
emphasised devotion to Vishnu, and composed poems and plays in Assamese. He began the

practice of setting up namghars or houses of recitation and prayer, a practice that continues

to date.
a) Who has composed the Ramcharitmanas? @)
b) What were the major teachings of Kabir? )
¢) What is namghars? 0))
Section - E
Long Answer Questions - (5 x 4=20 Marks)

33. ”The media set the agenda”. What kind of effect does this have in a democracy? Provide
two examples to support your point of view.

34. What are tides ? What are the different types of tides? Explain with a diagram.
Or

In what ways media play an important role in a democracy?
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35. “The products in weekly market are cheaper”. Give reasons.

Or
How was the administration of Ahom state organised?

36. What is water cycle? Explain with a diagram.

Section - F

——————

37. Mark the following in the outline of India map-  (5x1 =5)

a) Birth place of Ramanuja

b) region where chero tribes emerged in 12 th century.

c) Any one city located along the river Ganga.
d) Awadh

e) Ajmer

***************#*************
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